ramp rate
( 14
3 (AGC)
1
4
(44 47)
6.1
6
3 1



Gl
G2

G4

Go

24

6.1

5

30
200
130
40

1200

800

600

100

4
( 6.1)
1 2 3 (MW)
MW SMW MW SIMW MW SMW MW  SIMW MW SIMW Pmin Pmax
23 17 B 5 2 5 3% 3 2 5 U
80 -26 60 26 60 28 2 24 10 16 8 200
2 40 2 N 24 10 24 5 16 70 100
24 10 210 150 24 50 112 5 075 400 520
3080 17 0 B 50 13 2% 0% 200 280
24 40 277 3 N9 20 28 10 14 0 10
1 24
6.1
\/\/\/\/\ —
8- Reserve
== AGC

400 +

200

PRV S VI V S VS S VA VI VIV S RV

WY X

D2 B 0 B T LD B Wi B Ty T T T i B Tl Wl V2 ol R a0 |

6.1

123456789101 12131415161718192021 222324
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24 6.1 ( )

6.2 1
1 3
6.2 (Contingency reserve market cost : CRMC)
(AGC market cost : AGCMC)
(Energy market cost EMC) MW
MWh
, MWh EMC

CRMC  AGCMC

(Market cost : MC”
EMC MC

11000
10000
9000
8000
7000
6000
5000
4000
3000
2000
1000

-1000 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 | 1

1234567890 02BUBBTBONA2282%4

6.2 3 1
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( )
(
4) 6.3 (Energy
clearing price - ECP) (Contingency reserve clearing price - CRCP)ft
(AGC clearing price - AGCCP?
1 8
Lagrange multiplier
6.6
3
20 - ECP
|
I~ ~S=/CREER
m = AGCCP
0 2 X 11111111111111
123456789101 12181415161718192021222324
6.3 1
2
1( 5.2)
3
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6.2 2 3 1

2 3 2 3 2 3
ECP (IMWhH)  CRCP (SIMWh)  AGCCP (S/MWh)

2365 2399 231 270 - 2.08
2348 2371 226 256 - 2.96
SD. 007 008 043 050 - 0.58
6.2 2
3
2
ramprae 3 2

L Rampratt  l:upramprate=10% P  downramprate=15% P

2. Ramprate  2:upramprate=1% P  downramprate=20%  Prix
3 Rampratt  3:upramprate=20% P  downramprate=25% P

(Down ramp rate)u ( pramp rate) 5 %

2 3 MW
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12

63 1 2 3
EMC()  CRMC() AGCMC()  MC()
1 16062400 293246 105885 16461531

2 1 160855.00 2894.52 1055.25 164804.77
2 2 160731.40 2909.47 1058.85 164699.72
2 3 160664.20 2932.46 1058.85 164655.51

6.3 2
1 1 ramp
rate
2 1
(MC)g 1
ramp rate
ramp rate
ramp rate
ramp rate
ECP CRCP

AGCCP 64 66



ECP (§IMWh)

CRCP (§MW)

65 1

ramp rate

1 1 1 1 1 ! 1 1 1 1 1 1 ] B ] S | 1 1 1 1 1 1 1

12345678 910012131415161718192021222324

6.4 1 2( ramprate

1 1 1 1 1 ! 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

105

1
1
B~ramp 1
ramp 2
amp 3

3)

—— (uuiane 1
=8~ ramp %A 1
—&= ramp ¥R 2

=% ramp %A 3

1 23 4567 8 91011121314151617 18 19 20 21 22 23 24

. ¥
2 Tuanmsdeve v

2(

ramprate 3 )
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10
8
Y —- uyyiae |
% p 8~ ramp %A 1
g 4 | —4 ramp A 2
&}
< =< ramp 4@ 3
2 -
0 1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 1
1 2 34567 8 91011121314151617 181920212223 24
Frluamsdonelih
6.6 1 2( ramwrae 3 )
ramp rate
64 66
16 2
1 $30.06/MWh
$27/IMWh 2 1
S8.39MW S3.33IMW
2 1 $7.66/MW
S2.20IMW 6.6
2
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6.4 ECP CRCP  AGCCP 1 2
($MWh)
ECP CRCP  AGCCP

1 23.99 2.70 208

2 ramp 1 242 291 2.26

ramp 2 24U 2.85 2.20

ramp 3 2404 2.15 2.09

6.4 1
2 1 16 ECP 2 $30.06/MWh
ECP $24.23IMWh ECP 1
$0.24/MWh CRCP  AGCCP 2
1 $020MW  $0.18/MW
1 20,711 MWh
2,073 MW 1,036 MW
2 ramprae 1
20,711 x 0.24 = $4,970.64 2,073 x 021 =
$435.33 1,036 x 0.18 = $186.48
ECP CRCP AGCCP
ramp rate
ECP CRCP  AGCCP

6.5
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6.5 1 2
(SMWh) SD. SD.  $lIIMWh
FCP CRCP AGOCP ECP CRCP AGCCP ECP CRCP AGCCP

1 87 25 1% 18 127 114 008 050 058

Jramp 12398 273 211 259 273 208 011 080 (098
22390 269 206 222 171 159 009 064 077
ap 32381 260 197 190 1% 118 008 052 00

6.5 ramp rate
ramp rate ramp rate
ramp rate 3 1
SD. ramp rate
ramp rate 1
ramp rate
(MC,EMC,CRMC,AGCMC)Sa
(ECP,CRCP,AGCCP) (.. )
2
2 ( 5.3)
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6.6 2 3 2

2 3 2 3 2 3
ECP (§MWh)  CRCP (SMWH) AGCCP (SMWH)

77 423 24 201 : 226
1 2357 2898 2R 273 : 211
SD. 008 011 049 080 - 0.98
2370 2414 242 285 - 2.20
2 2352 2390 231 269 - 2.06
S.D. 007 009 047 064 - 0.77
2365 2404 237 275 . 2,09
3 2348 881 226 260 . 197
S.D. 007 008 043 052 - 0.60

6.6 2

3
3
3

L pc  L:Poce=PAL=70%  pnx
2 Pc q 2 :Fc).rnll!rvc - c,A(CT& =80% o)
3- PC q 3 :Fc),reserve - F@A@Ef = 90% R@iﬂ
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3 3 MW
g )
G4 1
3 G4 22 67 68
e 8558%
100%
G4
3 g P 1 G4
6.7 3 1
Gl 93.93% ( PG G4
20.89% ( Rnd 6.8
Gl 93.93% ( PGm) G4
18.89% ( AGCI®)
3
110
lgg I (70,100)‘5 (85.58,100) |
= 80
o2 70
5 60
€ 50 f
€ a0 f
& a3k
=) b= T0% Pmax; (93.93,20.89)
. sl o e e | UG e
0 10 2 3N 4 5% 60 0 8 9 10 1
% G4
67 G4
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100 \ T T
e (70,100)
80 '
70
60
50
40
30

20 i
o P.pcc = 70% Pmax | (93.93,18.89)

| i | 1
0 1 ! ] ] 1

0 10 20 33 4 0 60 70 8 % 00 U

wa

% MINIVAUMIHANDA TUIA

T T T T I I T I T

% G4

6.8 G4
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6.7

AGCCP

1

(MCA

MC

Pc

EMC ()
160624.00
16154357
160960.96
160608.00

Pc

CRMC( )
2032.46
342219
312956
2049.58

69 611

13
AGCMC ()
105885
111229
1046.69
105885

Pc

12

Pc 3 )
MC ()
164615.31
166078.05
165137.21
164616.43

ECP CRCP



ECP ($/MWh)

CRCP ($/MW)

34

30

28

26

24

22

20

14

=

(38}
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3 1
Pc ( Pe )
k 1
- -B-Pc 1
L Pc 2
" Pc 3

123456789100 2BKUB16171819202122232%

69 1 3 R 3

—o— ([yu1ane |
B —&- Pc 9A 1

J: —&= Pc A 2

%= PcgA 3

1 1 1 1 11 1 ! 1 1 1 1 11 1 1 1 1 1 1 1 1 1

1234567891000 1B3M516171819202122232%

610 1 3 P 3 )



32

28

24

20

AGCCP ($/MW)

6.11

16

3 1
S2.20MW

114

1 1 1 | U VI S [ ) 1 1 1 1 1 1 |

—— (LlyU1avg |
8- Pc a1

—&= Pc A 2

= Pcyn 3

1 2345 6 7 8 910111213141516 17 18 19 20 21 22 23 24

S29.81IMW

F2 Tuamsseus Wi

3
$3.33IMW

1

69 611

3 1 $32.38/MWh
$21IMWh
$12.71IMW

6.6

6.8



6.8 ECP CRCP
ECP
1 23.99
3 Pc 1 2469
Pc 2 2440
Pc 3 2404
6.8
16 ECP 2
$24.69/MWh ECP
CRCP  AGCCP

1 §LAMW  §20UMW

1
2073 MW
3 Pe 1
20,711 X 0.70 = $14,497.7
$2,771.82
$2,082.36 ( 1)
3

Pc

115

AGCCP 1 3
(SMWh)
CRCP  AGCCP  MP(/- )
270 208 16461531
4,04 409 16607805
308 240 16513721
275 214 16461643

1 3 1
$32.38/MWh ECP
1 $0.70MWh
3
20,711 MWh
1,036 MW
2073 X 134 =
1036 X 201 =

ECPCRCP  AGCCP
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ECP CRCP  AGCCP

6.9

69 13
(SMWh) ) SD.  $IMWh

ECP CRCP AGCCP ECP CRCP AGCCP ECP CRCP AGCCP

1 37 2% 1% 18 127 114 008 050 058

3PC 1 2440 376 371 262 376 58 011 073 158
Pc 2 2414 201 225 213 1R 14 009 082 063

Pc 3 2381 260 200 191 1% 123 008 052 06l

6.9

Pc
Pc 3

Pc

SD. (69
P

(MC,EMC,CRMC,AGCMC)ff (ECP.CRCPAGC)



6.10

SD.

SD.

SD.

(SD.

6.10

2

6.10

3

ECP (§IMWh)

24.66
24.38
0.11
24,08
2387
0.08
23.65
2348
0.07

24.69
2440
0.11
24.40
24.14
0.09
24.04
2381
0.08

2

3
3 3

CRCP ($/MWH) AGCCP (SIMWh)
55 404 - 409
508 376 371
19 073 158
307 308 240
200 291 225
05 05 063
231 275 214
2% 260 201
043 05 061

117



6.5

L up ramp rate
2. down ramp rate

3

1

6.11

P TMTM
Dreserve

RARY

Up ramp rate

1

= oo DY

Pc

ramp rate
10%
15%
0% <o (B
4 MW
)
1 4
down ramp rate
4
13
4
3
6.11
1 4
EMC() CRMC()  AGCMC()
160624.00 2932.46 1058.85
160855.00 2894.52 1055.25
16154357 3422.19 1112.29
162015.55 3346.18 1088.57

MC()
16461531
164804.77
166078.05
166450.30



6.11 4
1 13
4
2 3 1
4 1
4
ECPCRCP  AGCCP 612 6.14

13

ECP ($/MWh)

20 1 1 1 ] 1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1

123456789 0U021BM45161718192 2022324

6.12 1 4
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CRCP ($/MW)

AGCCP ($/MW)

- yudans |
& nyudhane 2
-+ (yui1aes 3

= (UUIIABI 4

0 | .Y | 1 1 1 1 1 1 1 1 ! O | 1 1 1 1 1 1 1 1 1

1 23456 7 8 91011121314151617 18 19 20 21 22 23 24

O ¥
F2luanmsdeue v

6.13 1 4

32 =2

28

24

20

16

12

== (IyuiIans |
-8~ [IYUT1a99 2
- yud1ane 3

- yudiand 4

1 23456 7 8 91011121314151617 18 1920 21 22 23 24

6.14 1 4
4
12
$35.43IMWh $29/Mwh
$24 81IMW $3.33IMW

$16.30/MW $2.200(MW




4
1
612
612 ECPCRCP  AGCCP 1 4
(SMWh)

ECP CRCP AGCCP

1 23.99 2.10 2.08
2 24.23 291 2.26
3 24.69 4,04 409
4 2491 4.78 4.24
1 4 1 20,711
MWh 2073 MW
1036 MW 4
) 1 = 20,711 x 23.99 = $496,856.89
= 2,073 x 2.70 = $5,597.1 = 1,036
x 2.08 = $2,154.88 $504,338.87
2 2 = 20,711 x 24.23 = $501,827.53
= 2,073 x 291 = $6,032.43 =
1036 x 2.26 = $2,341.36 $510,201.32
3 3 = 20,711 x 24.69 = §510,733.26
= 2073 x 404 = $8,374.92 =
1.036 x 4.09 = $4,237.24 $523,345.42
4, 4 = 20,711 x 24.97 = $517,153.67

= 2,073 x 478 = $9,908.94 =
1.036 x 4.24 = $4,392.64 $531,455.25



6.13

6.13

122

( 13
ECP CRCP AGCCP
1 4
(SIMWh) SD. SD.  SIMWh
ECP CRCP AGCCP ECP CRCP AGCCP ECP CRCP AGCCP
1 377 2% 1% 18 127 114 008 050 058
2 2398 273 211 259 273 208 011 080 (098
3 2440376 370 262 276 58 01l 073 1%
4 2063 437 38 346 524 5% 04 10 15
613
4)
(
1
' (MC,EMC,CRMC,AGCMC)S4
(ECP,CRCP, AGCCP) (SD.
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1( 55
3
4 614
6.4 ) 3 4
> 3 2 3 2 3
ECP (SIMWH)  CRCP (SMWH)  AGCCP (S/MWh)
%93 49T 63 478 - 4%
M50 2463 510 43 - 383
SD. 014 01 18 10 - 15
6.4 2
3
6.6
1 4( 62 65

Lagrange multiplier
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Lagrange multiplier
1
Lagrange multiplier

(MC) MW
Lagrange multiplier
1
4 ( 7 1) 12
$35.43IMWh $24.81IMW
$16.30/MW
12 1 MW
4 19 20)
(
1MW I? b
I} 10G5 'MW Gb
1MW
2 10 G2 6.33 MW G3
6I3MW G5 0.6 MW
3 10 G3 03 MW G5
0.3 MW
4, 11 G5 1MW G6
LMW
5. 11 G5 06 MW G6

0.6 MW



12

1MW

)

10

(

12

1 G2

0.29 MW
12 G6
13 G4
1MW
13G4
0.32 MW
13 G2

MW

$166,450.30 (
1 MW

$35.43

$166,450.30 (
1 MW
21)

125

346 MW G3
AT MW G5
1MW(***)
1MW Gb
032 MW G6
0.34 MW G3
05MW G4 0.16
12
L)
$166,485.73 ( 20)
$35.43 Lagrange multiplier
12
12 $35.43/MWh
12 1 MW
12
b)
$166,475.17 ( 2)
$24.81 Lagrange multiplier
12
12 $24.87TIMW

2 1MW



$24.87
1MW

$166,450.30 (

12 1 MW
( 2)
multiplier
12
12 $16.30/MW
12 1MW
6.7

b

$166,466.60 (
$16.30

$16.30
1MW

Lagrange multiplier

24)
Lagrange
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